
 

Residual block
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Shipconnections allow to train muchdeeper network

why ResNets work
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Because of skip connection Identity function
is easy to learn adding more layers do not
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Network in network her convolutions
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Using Hr convolution
Pooling shrinking width andheight
To shrink litters use her convolutions
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Inception network

choosing the cave and pooling litter size is
difficult don't choose use more
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reduce computation cost
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Inception module



Inception network google.net

i
side branches
can be add here


